{ Electrolux

Facitory Parts Catalog

Product No. E30WD75ESS1
31266300850S1

Series 30" warm drawer

Color stainless

Market North America

Wiring Diagram | 318049901

Owner's Guide

318201002

{ Electrolux

ELECTROLUX HOME PRODUCTS, INC.
P.O. Box 212378, Augusta, GA 30917

Publication No.
5995426003
05/01/07
(EN/SERVICE/ECL)

377

WARMER DRAWER

Model No.
E30WD75E

Copyright © 2004 Electrolux Home Products, Inc.
All rights reserved.




E30WD75ESS1

Publication No: 5995426003

BODY

BE30WD75DSS1

01/05



E30WD75ESS1

BODY

Publication No: 5995426003

POS. NO

10
11
13A#
14#
19
32
36A
39
46
69
81
84 #
84A#
86
196
198
201
202
203
203A
205
205A
207
209
209*

O

# Functional Parts
* Non-lllustrated Parts

PART NO.
5304437021
5303300265

316095500

318250400

318246901

318228100

318017600

318144001

318250500
5303323134

318251000

318005106

318005103

316095800

318100101

(08008009

318145104

318121602

318025711

318025701

318123711

318123701

318143601

318247401
5303302745

318199730
08067961
5303211311
5303311333
5303323140

DESCRIPTION

Screw, mounting, 8-18 x 0.25, chrome, (2)

Screw, 8-18 x 0.500, chrome, (3)
Switch, infinite, warmer

Light, indicator, blue

Panel, control, stainless

Strain relief

Knob, warmer

Cord, service

Lens, indicator light

Screw, 8-32 x 0.188

Element, warmer drawer
Thermostat, safety

Thermostat, safety

Clip, hold down, warmer element
Cover, access

Bushing, side panel, nylon, RH, snap
Wrapper, outer

Wrapper, lower

Bracket, side panel, RH

Bracket, side panel, LH

Panel, side, RH

Panel, side, LH

Panel, wire cover

Bracket, wall

Screw, 10-16x1-1/8, square drive

Wiring Harness

Fastener, clip cable

Screw, 8 x 0.500

Screw, 8-32 x 3/8, (6)

Screw, ground, 10-32 x 0.375

01/05



E30WD75ESS1

Publication No: 5995426003

DRAWER

DE30WD75DSS1

01/05



E30WD75ESS1 Publication No: 5995426003

DRAWER

POS. NO
1

4

10
11
13
39
74
80
85
122
123
124
125
126
126*
130
130A
209*

* % % %

# Functional Parts
* Non-lllustrated Parts

PART NO.
318246400
318247000
5304436876
5304437019
318248400
318238902
318141920
318254400
318257600
318247200
318247100

08002868
5304436030
318251100
5304436029
318246800
318246801
5303302745

318163602
08016432
5303311333
5303323175

DESCRIPTION

Drawer, warmer, w/track

Glass, Drawer Panel, black

Screw & Washer, handle mtg., 10-24 x 1/2
Screw, flat socket, 6 x 5/16, ZP, (4), T/B
Channel, drawer slide, outer

Handle, oven door, stainless

Bumper, base

Gasket, warmer drawer

Rack, warmer drawer

Panel, drawer, interior

Panel, control, humidity

Screw, 10-24 x 0.500, probe, thrm brkt, shield, drwr, box
Rivet

Handle, control, humidity

Screw, handle mtg

Panel, drawer front, stainless, RH side
Panel, drawer front, stainless, LH side
Screw, 10-16x1-1/8, square drive

Cleaner, stainless steel

Screw, truss head, 8-18 x 0.375
Screw, 8-32 x 3/8, (6)

Adhesive tape, 1" Ig.

01/05



Publication No: 5995426003

E30WD75ESS1

WIRING DIAGRAM

BR-1

SAFETY THERMOSTAT
TERMOSTATO DE SEGURIDAD
THERMOSTAT SURETE

WARMER

INDICATOR DE CALENTADOR
INDICATEUR RECHAUD

L] N
BK-1 WARMER SW
WARMER SW WARMER ELEMENT TR EpeAEEN TARER
INT. DE CALENTADOR ELEMENTO DE CALENTADOR B%ggg :
INTER. RECHAUD ELEMENT RECHAUD 0 10O0E

LOW LIMIT THERMOSTAT
TERM., DE LIMITO LO
THERMOSTAT BASSE LIMITE

W-1 L W-1

[NDICATOR

- e W-1
BR- | @

COLORS CODE

CODIGOS DE COLOR

CODIFICATION DES COULEURS

W -WHITE / BLANCO / BLANC
WIRE GAGE UL STYLE
ALAMBRE |MEDIDA %MBEBHHB% MODO ULE BK |-BLACK / NEGRO / NOIR
FlIL CALIBRE|TEMPERATURE | UL STYLE R -RED / ROJO / ROUGE
1 18 150°C 3321 BR_ | -BROWN / MORENO / BRUN

CAUTION/AVISO/AVERT ISSEMENT
DISCONNECT POWER BEFORE SERVICING UNIT.
DESCONECTE LA ENERGIA ANTES DE REALZAR EL
MANTENIMIENTO DEL ELECTRODOMESTICO.

COUPER LE COURANT AVANT D'EFFECTUER LA REPARATION

01/05

318049901 REV. A




